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A worker earns 2800rs per week. If his per hour wages is increased by 20% and his 

working hour is decreased by 25%. Then what will be new wages ?

1.2520
2.2500
3.2700
4.2000
5.NOT

एक श्रमिक प्रमि सप्ताह 2800 रुपये किािा है। यदि उसके प्रमि घंटे के वेिन िें 20% की वदृ्धि होिी है 
और उसके काि के घंटे िें 25% की किी होिी है। िो दिर नया वेिन क्या होगा?



In a village, 40% of the population  in female. 70% of the female and 50% of male 

are married. The percentage of the unmarried population in the village is ?

1.42
2.48
3.52
4.58
5.NOT

एक गााँव िें, 40% आबािी िदहलाओं की है। 70% िदहलाएं और 50% पुरुष द्धववादहि हैं। गााँव िें 
अद्धववादहि आबािी का प्रमिशि क्या है?



If the price of rice is decreased by 20%, a person can buy 2 kg more rice for 360rs. 

Find the original and present price of rice per kg ?

1.45,36
2.40,32
3.30,24
4.60,48
5.NOT

यदि चावल की कीिि िें 20% की किी की जािी है, िो एक व्यद्धि 360 रुपये के मलए 2 दकलो अमिक 
चावल खरीि सकिा है। प्रमि दकलो चावल का िूल और वितिान िूल्य ज्ञाि कीजजये?



Due to the reduction of 20 % in the price of apples, a man enable to purchase 8 

apples more for 320rs. Find the present and old price of one apple? 

सेब की कीमत में 20% की कमी के कारण, एक आदमी 320 रुपये के लिए 8 सेब अलिक खरीदने में 

सक्षम है। एक सेब का वततमान और पुराना मूल्य ज्ञात कीलिये?

1.5,4 
2.10,8
3.15,12
4.20,16
5.NOT



Due to the reduction of 14 2/7 % in the price of apples, a man enable to purchase 3 

apples more for 252rs. Find the present and old price of one apple?

सेब की कीमत में 14 2/7% की कमी के कारण, एक आदमी 252 रुपये के लिए 3 सेब अलिक 

खरीदने में सक्षम है। एक सेब का वततमान और पुराना मूल्य ज्ञात कीलिये?

1.7,6
2.14,12
3.21,18
4.28,24
5.NOT



Due to the increment of 50 % in the price of apples, a man enable to purchase 4 

apples less for 24rs. Find the present and old price of one apple ?

सेब की कीमत में 50% की वलृि के कारण, एक आदमी 24 रुपये के लिए 4 सेब कम खरीद सकता 

है। एक सेब का वततमान और पुराना मूल्य ज्ञात कीलिये?

1.4,6
2.2,3
3.8,12
4.9,10
5.NOT



In an exam 55% of the students passed in science, 60% passed in maths and  20% 

passed in both. How much percent of students failed in both the subjects ?

1.10
2.15
3.5
4.8
5.NOT

एक परीक्षा िें 55% छात्र द्धवज्ञान िें उत्तीर्त हुए, 60% गजर्ि िें उत्तीर्त हुए और 20% िोनों िें उत्तीर्त हुए. 
िोनों द्धवषयों िें दकिने प्रमिशि छात्र अनुत्तीर्त हुए?



In an examination, 33% passed in science and 57% failed in mathematics. If 41% 

failed in both subjects, what percentage passed in both subjects?

1.21%
2.23%
3.17%
4.27%
5.NOT

एक परीक्षा िें, 33% द्धवज्ञान िें उत्तीर्त हुए और 57% गजर्ि िें अनुत्तीर्त हुए। यदि 41% िोनों द्धवषयों िें 
अनुत्तीर्त हुए, िो िोनों द्धवषयों िें दकिने प्रमिशि उत्तीर्त हुए?



In an exam 75% of the students passed in science, 60% passed in hindi and 25% 

failed in both. If 240 students passed both the exam. Find the total number of 

students who gave the exam ?

1.300
2.400
3.500
4.800
5.NOT

एक परीक्षा िें 75% छात्र द्धवज्ञान िें उत्तीर्त हुए, 60% दहंिी िें उत्तीर्त हुए और 25% िोनों िें अनुत्तीर्त 
हुए. यदि 240 छात्रों ने िोनों परीक्षा उत्तीर्त की। परीक्षा िेने वाले छात्रों की कुल सं्या ज्ञाि कीजजये?



When a student score 40% marks  then he is failed by 50 marks. But when he score 

50% marks then he is passed with 40 marks. Find passing percentage ?

1.45 5/9
2.45
3.42
4.38
5.NOT

जब एक छात्र 40% अंक प्राप्त करिा है िो उसे 50 अंकों से अनुत्तीर्त कर दिया जािा है। लेदकन जब वह 
50% अंक प्राप्त करिा है िो उसे 40 अंकों के साथ पास दकया जािा है। उत्तीर्त प्रमिशि ज्ञाि कीजजये?



A man purchase  6 Black and x white balls. The price of black ball is 5/2 of the price 

of the white ball. At the time of making the bill clerk made a mistake and interchange 

the number of balls, due to this the bill amount increased by 45%. Find X?

1.20
2.15
3.12
4.26
5.NOT

एक आििी 6 काली और x सिेि गेंिें खरीििा है। काली गेंि की कीिि सिेि गेंि की कीिि का 5/2 
है। द्धबल क्लकत  ने गलिी करिे सिय गेंिों की सं्या को आपस िें बिल दिया, इस वजह से द्धबल की 
रामश िें 45% की वदृ्धि हुई। X का पिा लगाएं?



The total salary of P, Q and R is 27500rs. If they spend 90%, 70% and x% of their 

salary respectively, then their saving ratio is 6:9:7. Find the value of x, if salary of R 

is 18 2/11% of total salary of P, Q and R ?

1.35
2.60
3.65
4.85
5.NOT

P, Q और R का कुल वेिन 27500 रुपये है। यदि वे अपने वेिन का क्रिशः 90%, 70% और x% खचत 
करिे हैं, िो उनका बचि अनुपाि 6: 9: 7 है। यदि R का वेिन P, Q और R के कुल वेिन का 18 2/11% 
है, िो x का िान ज्ञाि कीजजये?



If the income tax is increased by 19% then net income is decreased by 1% then find 

the rate of income tax ?

यलद आयकर में 19% की वलृि होती है तो शुि आय में 1% की कमी होती है तो आयकर की दर ज्ञात 

कीलिये?

1.11
2.5 1/19
3.5
4.11
5.NOT



A family consumes 25kg rice and 9kg wheat per month spends 350rs. The price of 

rice is 20% of the price of wheat. If the price of wheat is increased by 20% then find 

the percentage reduction in consumption of rice, if it has the same amount to spent. 

The price of rice is constant ?

1.26
2.36
3.35
4.45
5.NOT

एक पररवार प्रमि िाह 25 दकलो चावल और 9 दकलो गेहंू का उपभोग करिा है और 350 रुपये खचत 
करिा है। चावल की कीिि गेहंू की कीिि का 20% है। यदि गेहंू के िूल्य िें 20% की वदृ्धि होिी है, िो 
चावल की खपि िें प्रमिशि किी ज्ञाि कीजजये, यदि इसिें खचत करने के मलए सिान रामश है। चावल का 
िूल्य जथथर है?


